Section 2.5 Linear Inequalities in Two Variables

Review: What is the relationship between the equation
y = — 2z + 5 and the graph of the equation shown below?
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Review: What is the relationship between the equation
y < — 2z + 5 and the graph of the equation shown below?




Solve the inequality 2z + 3y < — 2.

Will the graph of the solution set require a dashed or solid line?

soliA

Write the inequality in the form: y <o> maz +b

Find two points that lie on the boundary line for the solution set.
. -6, 12 )
(5,-4) , (-6, %

Graph the solutions set by shading the appropriate side of the
boundary line.
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Solve the inequality 2%+¢ > 1y —

X.
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Will the graph of the solution set require a dashed or solid line?

solid

Write the inequality in the form: y <or> mz + b
Ix+qy 1 3y %X
7% 2 3y , &9 27X
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Find two points that lie on the boundary line for the solution set.
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Graph the solutions set by shading the appropriate side of the
boundary line.

A BTN N



Solve the compound inequality 2z +y < 5 and 3z — 2y > - 2.
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Solve the inequality |3z + 4y| > 2
Tx+4Y < -

-" [ Shafe LoVA T )N

O 9y 7 22X

N

3T R R

-

\ e LY _E’)

1 \A \ /4 4] j < -9 - 3 X

1 . ! - e —‘—\\
_B-f / \ \ ' - 4 —L

v, ol < -3y -

,- l/,." 6 -r J II fj -:‘:- x c;
7/ L ' )\ | N A -/>
/ I/"J ' TN



